A B c D E F | G H | | J
Note: Spreader bar Cooling fan location
required to avoid
damage during lifting 130.7 [5.15
1 _ 119.5 [4.71] 68 [2.68] (4) Mounting Holes [5.19] -
3 for M8 [5/16"] Screws. . 2
@ . 4)-Lifting Hol :
S 135.5 [5.34] 36 [1.42] See Detail Afor top e D070 E S,
| =) mounting hole dimensions. : Air S
|’ ] o |
[5) ) o
2 | i ool © [
| |
- | | — 8 o o 3
! ! S ~ ° o @9 [20.35]
! | w = o
| | o = 00 S
3 ? 'I.l_')' s LED ! ' g g o . q‘ |
o a5 Readout | | 5 Nameplate S S
- i o 5 &
(o] © E ! ' [N ©
-~ 8 3 | | ° g 8 )
] ! \‘ |
| | | ° o o |
‘ ‘ @15 [@0.59]
4 Iy | ceoo i
— i s — ! oo
2 | | i Detail A
=3 = ° Top mounting hole dimensions
— 2 j 2 Scale 1:1
ﬁg 8 - o @8 o o
C 10— J 0 O I
; T .
& max.10 [0.39] max.10 [0.39] Air | 23[0.09]
e ——————= e
— e 55 [2.16] 200 [7.87] 55 [2.16] 2.5[0.10] 290 [11.43]
HORIZONTAL MTG DIM
310 [12.20]
6
I ~
% C/C:  |INPUT VOLTAGE OUTPUT WEIGHT | COOLING |  HEAT LOSS
=) SPBC- 1-PHASE (VAC) CAPACITY Kg (Ib) FANS (W)
7 (kW) INT | EXT | TOT
2037000 37 33 (72.8) 2 281 | 878 [ 1159
2045000 23070 240 45 33(72.8) 2 339 | 1031 1370
4056000 460 TO 480 56 33.6 (74.0) 2 248 | 834 | 1082
] o denotes A-Z INT=Internal Components
EXT=External Heatsink
TOT=Total
8 @_ — DRWN. | J. MATTAS 1-16-19 |TITLE SIZE A |PAGE 10F 4 REV
— CHKD. [J. PIOTROWSKI |1-21-19 SPBC DIMENSION DRAWING
YASKAWA FRAVEE SIZE oA Pwa.No. 0
UNITS MM [IN]| TECH. |L. UDDIN 1-22-19
SCALE 18 | APRV. [J. CAIRO 2519 IP00 ENCLOSURE DD.SPBC.FR3A.IP00




I— A B c | D | E | F | G | H
Terminal and Wiring Information for SPBC-2037 and SPBC-4056
1
86.1 [3.39] 8xP5=40 [1.57]
| 25 [0.99]
[ 7xP5=35[1.38]
2 / \\\
e T~ — Control Terminals
YABKAWA Slot(-) Screws
— o o000
[ ]
Main Terminals
® ® with M8 Screws
Phillips(+)/Hex head
3 (WAF: 13mm) combo
j LS A-r-z-‘-_—lvk“,
[o[o[e]o[o]e]’: 2
10— 99— A
4 Grounding Terminals
57 [2.24] 86 [3.39] with M8 Screws
Slot(-)/Hex head
(WAF: 13mm) combo
— 20[0.79] 5xP32=160 [6.30]
5
6 )
—| ®©
o | £
[m——a =] | E
——1 —_ o | =
— » = g
-] o @ § .E 0 5
S| o2 ) © |2
g ; 8 2s o§ & €
©,|BE ~ |- Q
S«c ® | © )
g 3 2 = CIC: TERMINAL WIRE RANGE TERMINAL | CLAMPING TORQUE
7 ° ° <5 ~ SPBC- SYMBOL AWG (mm?) SCREW N.m. (Ib.in.)
= 2037000 | RILT, SIL2, +4, 45, - +1 | 6-250 (13.3 - 127) M8 9.0-11.0 (79.7 - 97.4)
4086000 ® See Note M8 9.0-11.0 (79.7 - 97.4)
-] o Denotes A-Z
Note: Refer to applicable codes and standards for proper wire type and size.
8 @_ — DRWN. | J. MATTAS 1-16-19 |TITLE SIZE A |PAGE 2 OF 4 REV
—] CHKD. | J. PIOTROWSKI 1-21-19 SPBC DIMENSION DRAWING
YAS '(AWA MM [IN] FRAME SIZE 3A PWO.RO. 0
UNITS TECH. (L. UDDIN 1-22-19
SCALE 15 | APRV. [J. CAIRO 2519 IP00 ENCLOSURE DD.SPBC.FR3A.IP00




I— A B C D | E | F | G | H | J
Terminal and Wiring Information for SPBC-2045
1
86.1[3.39] 8xP5=40 [1.57]
| 25 [0.99]
[ 7xP5=35[1.38]
2 / \\\
] T~ — Control Terminals
YABKAWA Slot(-) Screws
] o o000
[ ]
Main Terminals
® with M10 Screws
Hex head (WAF: 17mm)
3
I
— @ )
4 Grounding Terminals
57 [2.24] 86 [3.39] with M8 Screws
Slot(-)/Hex head
(WAF: 13mm) combo
— 10 [0.39] 5xP36=180 [7.09]
5
={ddhAdhdh ah
6 U L H z
5| 8
=] © () —0 _ _ S £
—_— = K2} =R
T o2 KE <|B
° ©lcg o9 &g
LB E 5o o
g 8,“_’ s CIC: TERMINAL WIRE RANGE TERMINAL | CLAMPING TORQUE
7 ° ° <5 < SPBC- SYMBOL AWG (mm?) SCREW N.m. (Ib.in.)
= RIL1, S/L2, +4, +5, -, +1 | 1-350 (42.4 - 152) M10 18 - 23 (159 - 204)
2045000
[) See Note M8 9.0-11.0(79.7 - 97.4)
-] o Denotes A-Z
Note: Refer to applicable codes and standards for proper wire type and size.
8 @_ — DRWN. | J. MATTAS 1-16-19 |TITLE SIZE A |PAGE 30F 4 REV
— CHKD. | J. PIOTROWSKI 1-21-19 SPBC DIMENSION DRAWING
YAS '(AWA MM [IN] FRAME SIZE 3A PWE.RO. 0
UNITS TECH. |L. UDDIN 1-22-19
SCALE 15 | APRV. [J. CAIRO 2519 IP00 ENCLOSURE DD.SPBC.FR3A.IP00




C

G | H |

Minimum Installation Clearances Panel Cutout
For External Heatsink Mounting Configuration
(4) - M8 [5/16"]
5 Tapped Hole 302 [11.88]
5 _
L/ y < 200 [7.87] A
N =)
~ Air N Air 2= b~ | )
= _ g '
7 8 © O
q° °F
CUTOUT
|
| I
© | & S
i 1 < [Te}
30[1.18] 30[1.18] N | N, N
A g |
LO 1
|
|
|
YASKAWA |
S o000 i
© O !
~ — O *
l Clramis) ] 5
Y 3 = &
3 [ce]
/ S % | 2 200 [7.87] 3
Py =)
ir =z N ~  Aij N o
Air - " ~ 312 [12.28] S
4 A
Notes:
Exposed heatsink minimum clearance D = 106 [4.17].
@_ — DRWN. | J. MATTAS 1-16-19 |TITLE SIZE A |PAGE 4 0OF 4 REV
YAS'(AWA — [CHKD. |J. PIOTROWSKI _[1-21-19 | SPBC DIMENSION DRAWING  [5WGNO. 0
UNITS MM [IN] | TECH. |L. UDDIN 1-22-19 FRAME SIZE 3A
SCALE 16 |APRV. [J. CAIRO 2519 IP00 ENCLOSURE DD.SPBC.FR3A.IP00




	Sheets and Views
	DD.SPBC.FR3A.IP00-PAGE 1
	DD.SPBC.FR3A.IP00-PAGE 2
	DD.SPBC.FR3A.IP00-PAGE 3
	DD.SPBC.FR3A.IP00-PAGE 4


